1. Pemmre ypasuenue: (z+2)(1—i) =2.
1) z=—-142i 2)z=1+i
5) z=i+i

3z=—-1-i
6) 7= —1+7

2. Pemmre ypasnenue: (141)(z—3) = —3.

3i 3 3 3 3i
i 2) 1 - 4= Z_=
1) +2 ) ,5+2 3)4+2 4) 5
39
6)7+i

3. Pewmwre ypaBHenue: 37 —Z = Rez+i.

i i i
l = —— 2 = — 3 = —
)z 4 )z 8 )z 2
4. Penmre ypasuenue: 2z7+7=1—Imz.
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i 1 1 1 1
=_ 2)z=—= 3)z=— 4) 7= — 5) 7= —+i
1)z 3 )z 3 )z 3 ) 2 2 ) 2 3+z
6) z=1+i
s p 1 i
. Femure aBHCHHEC. — = —.
P 7z 1+i
Dz=1-¢" 2z=-1-i 3)yz=—i—i 4)z=1-i
5)z=1+2i 6) z=1—-4i
1 1—i
6. Pemmre ypaBHeHHe: — = ——.
z i
1 i I 1o 1
z==+=. 2)z=———. =——4-. 4z=—=——.
)i=573 R T R )i=7373
1 1 i
5)z=—-+—-. 6) z=—=+-.
)z 4+2 )i="513
7. Pemmre ypaBHEeHUE: =1
D1—i 2)—i 3)i 4 1+i 5)-1-i 6)—1+i
8. Pemmnre ypaBHeHHUe: 2=
f V2, 2 V2 V2
z=——— D z=——F7"7——1i 3)z=— 2i
)z 5! )z > 5 )z 2+\/_z
2 2 2 2
=\/§+%i 5)z:§+%i 6)z:—§+§i
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4)z=—1+i

i
4 = —— 5 =
)z 5 )z

5) 1,54

2
6) z=—
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9. Pemrure ypaBHeHHE: z3 =1.

1 i3 1 i3 1 i3
D=l Dz=g5-7 Iz=5t5 D=t
1 V3 1 i3
5 =11 6)7=—-——
)i=7y )=
10. Pemmre ypasHenue: 7> = —1.
iv3 1 i3
1)z i 2) z 3z 2+ ) z 2 2
1 V3
5)z==-4+—. =1
) 2+ 5 6) z
11. Pemute ypaBHeHHE: 2 =i
31 3 1
I)Z:fgfii 2)z=1 3)z=—i 4)Z:*£+7i
3 1
5)z:§f§i 6) 2= 204 i
12. Pewmnre ypaBHeHue: 7~ = —I.

V3 i V3 V3 i V3 i
Nz=—""+—<= ) z=———i =—+4= ) z7=—+—
)z > "3 )z 5 3)z 2—1-2 ) 2 2+

V3 i
Ni=g g 9=
13. Pemmre ypaBHeHHE: 2 —4z+5=0.
)z=1 2)z=2+1i 3)z=1+i 4) z=2—1i 5)z=-2+i
6) z=2i
14. Pemmre ypasnenue: z° +3z+4 = 0.

3 V7, 3 V7, 3 V7,

l)Z—*E‘i’Tl 2)Z—*5*71 3)Z—§*7l7 4)Z——l
3 V7 V7
=+ —I, =2 —
5) z 5 21, 6) z 217

15. Pemnre ypaBHeHue: 272 +8z+11=0.
3 3 3 3
=1 — = — — = 72 | - == 27 | -
1)z l\/; 2)z 1\/; 3)z +z\/; 4) z z\/;
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3 3
5)z=2+i\/;, 6)z=—2—i\/;

16. Pemmre ypasuenue: 37> —6z+9 = 0.
Dz=1-iV2  2)z=-2+iV2

3) z=2+iV2.

5 z=1+iV2  6)z=—-1-iV2.

17. Pemmre ypasHenue: 2 4272 +1=0.

Hz=1—i 2)z=i 3)z=2i
6)z=1

18. Pemmte ypaBHeHue: =22 +1=0.

4) z=—i

1) z=1, 2) z=—1+i, 3)z=1—1i, 4)z=1

6) =1L
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4) z=iv2.
5)z=-2i
5)z=-1



